

$$r^2 n^2 + r^2 n + r^2 b = r^2 n^2 - r^2 n c + a n - a c$$

$$a - r c \leq r^2 \quad a c \leq r b$$

$$n^2 + r n + b = (n-r)^2 + r^2 n - r^2 (n+c)^2$$

$$a + b + c \leq a + a - r^2 \quad (12)$$

12

Subject.

$$n^2 - m n + n = k (r n^2 - r n - 0) \quad (13)$$

$$n^2 - m n + n = k r n^2 - r m k - a k$$

$$k = \frac{1}{r} \quad m = \frac{r}{r} \quad n = \frac{1}{r}$$

$$a n + r = k (n - b) \quad \left(\frac{1}{r} \times \frac{r}{r} \right) = \left(- \frac{r}{r} \times - \frac{0}{r} \right)$$

$$\frac{a n + r}{a n + r} = \frac{1}{r} n - \frac{1}{r} b \rightarrow n = \frac{1}{r} \quad b = -\frac{r}{r}$$

$$\left(\frac{-r}{r} \right)$$

$$\frac{b n + r}{a n + b} \rightarrow b n + r = a c n + b c \quad n = -\frac{b}{a} > a$$

$$a c = b \rightarrow b = a \times \frac{1}{r} \leq r \quad b = a x - \frac{1}{r} \leq r \quad b \leq r \left(\frac{1}{r} - \frac{1}{r} \right)$$

$$r \leq b c = a c \times c = a c^2 \rightarrow c^2 = \frac{r}{a} \leq \frac{1}{r} \quad \left(\frac{1}{r} \right) \quad m = \frac{r}{r}$$

$$\frac{a b}{c} = \frac{1}{r} x - \frac{r}{r} \leq r \quad \frac{1}{r} \times \frac{r}{r} = -\frac{r}{r}$$

$$\frac{a b}{c} \in \left\{ \frac{1}{r}, -\frac{r}{r} \right\}$$

$$\frac{r g}{f + g} = \left\{ (r, 1) (r, r) (-1, r) \right\} \quad r, f, 1, r, r, v, a$$

$$\rightarrow \left\{ (r, 1) (r, r) (-1, r) (0, 0) \right\} \quad r, f, r, a, -\frac{r}{r}, 1$$

$$\rightarrow \left\{ (-1, r) (r, r) (r, -r) (0, \frac{1}{r}) \right\} \quad f, r, \frac{r}{r}, -\frac{r}{r}, \frac{1}{r}$$

$$\rightarrow \left\{ (-1, r) (r, 1) (r, r) \right\}$$

$$r a - r b = 1$$

$$a - r b \leq c$$

$$-r a - r - r b \leq 1 \quad -1 + 0 = r$$

$$r a - 1 - r b \leq c \Rightarrow \begin{cases} a + r b \leq -r \\ -r - r b \leq r c \end{cases}$$

$$r \leq r c - r \quad r c \leq 1$$

$$c = a$$

$$d \leq a \leq 1$$

$$f(a) \leq b = \sqrt{-a^2 + a - m}$$

$$\Delta \leq (-1)^r - f(m) \leq 1 - f(m) \geq 0 \rightarrow m \leq \frac{1}{r}$$

$$\Delta \leq 0 \quad 1 - f(m) \leq 0 \quad m \leq \frac{1}{r}$$

$$a + b = \frac{1}{r} \text{ to } \frac{1}{r}$$

$$n^2 - n + m \leq 0$$

$$n^2 - n + \frac{1}{r} \leq 0$$

$$\left(n - \frac{1}{r} \right)^2 \leq 0$$

$$n = \frac{1}{r}$$

$$f\left(\frac{1}{r}\right) \leq \sqrt{\left(\frac{1}{r}\right)^2 + \frac{1}{r} - \frac{1}{r}} \leq$$

$$\sqrt{-\frac{1}{r} + \frac{1}{r} - \frac{1}{r}} \leq 0$$

ESPADANA

Subject.

۱) $f(n) = \sqrt{n+1}$, $g(n) = n$ ~~X~~ $\rightarrow$ ~~مقایسه~~ (۱)

۱۲۵ $\rightarrow \frac{(n+1)(n+1)+n+1}{n^2+2n+1} , g(n) = 1 \Rightarrow \frac{n^2+n+2n+2+n+1}{n^2+2n+1} = 1$ دائمی شود (۱)

۱۲۵ ۲) $f(n) = \frac{r \sin^2 n - r \sin n}{r \sin n - r}$, $g(n) = r \sin n$ دائمی (۱)

$\rightarrow \frac{r \sin n (r \sin n - r)}{r \sin n - r} = r \sin n$ ✓

۱۲۵ ۳) $f(n) = \frac{n}{|n|}$, $g(n) = \frac{|n|}{n}$ دائمی (۱)

$\rightarrow |n| > 0 \quad \rightarrow n > 0$

۴) $f(n) = \left\lfloor \frac{n^2}{n^2+1} \right\rfloor$, $g(n) = \lfloor n - \lfloor n \rfloor \rfloor$ (۱)

$\frac{n^2}{n^2+1} > 0$ $n - \lfloor n \rfloor > 0$
 $\frac{n^2}{n^2+1} > -1$ $n > \lfloor n \rfloor$

۱۲۵ ۵) $f(n) = \frac{1}{\lfloor n \rfloor}$, $g(n) = \frac{1}{r \lfloor n \rfloor}$ (۱)

۱۲۵ ۶) $f(n) = \frac{1}{\sqrt{n-|n|}}$, $g(n) = \frac{1}{\sqrt{|n|-n}}$ (۱)

۱۲۵ ۷) $f(n) = \begin{cases} \frac{n^2-n}{r} & n \neq 1 \\ n-1 & n = 1 \end{cases}$, $g(n) = n^2+n \rightarrow n(n+1)$ (۱)

$r f(n) = (n^2+n+1) + (n^2-n+1) = n^2+n+1+n^2-n+1 = 2n^2+2 = f(n) = n^2+1$

$r g(n) = (n^2+n+1) - (n^2-n+1) = n^2+n+1-n^2+n-1 = 2n \quad g(n) = n$

(۱) $(n - \sqrt{n^2-1})(n + \sqrt{n^2-1}) = n^2 - (n^2-1) = n^2 - n^2 + 1 = 1$ (۱)

دائمی و شغل